Fax | #F=X oy
| 2/21 |5.1 % % #c3 845, 2 7 %8s Bicenpic s (3hr)
2/23 5.1 "Ségﬁ;:mﬁ;:% 2 % % #cs #oerpe A (3hr)
5 2/28 Hrx ke & p (%iEp)
3/2 15.3 % %oz g 42 P (2hr)
3/7 |5.47% v H#c22 & (2hr)
3 5.47 » g & (2hr)
3/9 |5.5. 145. 64& & Rl3E 22 & * (3hr)
Quiz 1: b5.1~5.3
3/14 |5.5. 145. 64& & Bl 22 & * (3hr)
4 3/16 5.5. 145, 61& Eip3F & i * (3hr)
5.7 Lagrange% & ;# (3hr)
3/21 5.7 Lagrange% & ;# (3hr)
5 5.7 Lagrange# + ;= (3hr)
3/23 |6.1= €4 4 (lhr)
Quiz 2: 5.4~5.6
3/28 6.2 Fubini %32 (2hr)
6 3/30 6.2 Fubini =32 (2hr)
6. 3= & f 4 ik & 48255 (dhr)
7 4/4 |AEFLECBP)
4/6  |6.3= & i~ el k4225 3% (4hr)
4/11 6. 3= € & ek & 48255 (dhr)
8 [ 5 [-4= £40~ = %4 Ghr)
Quiz 3: 5.7~6.3
9 4/18 16.4= & # » 2. % H % 4 (3hr)
4/20 ¢ F#H:51~6.4
4/25 |7. 11 * 45 S o) (3hr)
10 4/97 7. 17 * 3p a0 BoeBic3] (3hr) —
FHeFLE
1" 5/2  |7.2- Fépc~ > 42(3hr)
5/4  |7.2- répc~ > 42(3hr)
5/9 |8. 148 F erqg ¥ ¥ 2 @ (6hr)
12 511 8. 148 & g ¥ 2228 ¥ (Bhr)
Quiz 4: T.1~7.2
13 5/16 8. 148 & c4F ¥ 2228 W (6hr)
5/18 |8. 145 % m&; ¥ 22 ¥ (6hr)
1 5/23 |8. 2% ¥ & 4 R ch3E4E & (3hr)
5/25 |8. 2% ¥ & 4 R ch3E4E & (3hr)
15 |B/30 = w(%mw )
6/1 |8. 3:& 214 % (3hr)
6/6 |8. 38 5 4148 & (3hr)
16 6/8 8.4 Poissons fiz &2 45 #ic~ fie (4hr)
Quiz 5: 8.1~8.2
17 6/13 |8.4 Poissons fic 2 i e~ e (4hr)
6/15 |8.4 Poissons fit £ 4y #ic /> fie (4hr)
18 6/20 JQ & A _
6/22 Hry #F 7.1 ~8.4




